Efficiency vs Dxy(PV)
1.2

< .
a [ :
> I
° I
4 I .
> - .
oy Fo
c 0.8f--:-
Q r.
8 o
= Fo
15} 06__' .-
0.4f--+-
0.2t FL
o s i vy
@
0.95 l
=25 20 15-10 -5 0 5 10 1’:) 20 25
TP dxy(PV) (cm)
—— DQM_V0001_R000000001__Global__mKFitOrginal_RECO
—— DQM_V0001_R000000001__Global__mkFitNewDett_ RECO
—— DQM_V0001_R000000001__Global_mkFitNewDett33__RECO
[Efficienc]| —— DQM_v0001_R000000001__Global__mkFitNewDetNoF__RECO
S 1.
a
=
X
o
4
>
3
c 0.8
@
]
@ 0.9
0.4p--14
0.2
8 +¥
T
o
095
=1-0.8-0.6-0.4-0.2 O 0.20.4 0.6

Efficiency vs Dz(PV)

TP dxy(PV) (cm)

1.

S L
o L
\_g [
o e s A P
2 [
< [
9 [
© 0B
2 [
£ [
5 [
0.6-_ ............ L [P [
0.4:_ ............ [ —— I [
0'2:_ ........... [ R [
[ i i i i
o+
T
@
i
0%36 =20 -10 0 10 20 30

TP dz(PV) (cm)

S 0.5




	Contents
	Page 1


